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2 public class PreStars
3 {
4 public static void main(String[] args)
5 {
6 for (int i=1; i<=5; i++) {
7 for (intj=1; j<=i; j++)
8 System.out.print(*");
9 System.out.printin();
10 }
11 }
12 }
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2 public class Reverse
3 |
4 public static String reverse(int[] arr, int x)
5 {
6
7 }
8
9 public static void main(String[] args)
10 {
11 int[] intArr ={1,2,3,4,5,6,7,8,9, 10};
12 String results = reverse(intArr, 2);
13 System.out.println(results);
14 System.out.printin(reverse(intArr, 7));
15 }
16 }
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list =1[2,2,3,7,7,7,9,9,10,10]
count=1
current = list[Q]
foriinlist:
if i >current :
listfcount] =i
count +=1
current =i
last = len(list)
if last > count:
for i in range(count, last):
list.pop()
print("count =", count)
print("list =", list)
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(a+b|)+(c+d|) = (atc)+(b+d)i

(at+bi)—(c+di) = (a—c)+(b—d)i

(a+bi)* (c+di) = (ac-bd)+(ad+bo)i

(a+bi)/(c+di) = ((ac+bd)/(c*+d%))+((bc-ad)/(c*+d%))
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2 public class Complex

3 {
4 private double real;
5 private double imaginary;
6
7 public Complex()
8 {
9 this(0.0, 0.0);
10 }
11 public Complex(doubler, doublei)
12 {
13 real =r;
14 imaginary =1i;
15 }
16 public Complex add(Complex right)
17 {
18 return new Complex(real + right.real,

19 imaginary + right.imaginary);
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20 }

21 public Complex subtract(Complex right)

22 {

23 return new Complex(real - right.real,

24 imaginary - right.imaginary);

25 }

26 public String toString()

27 {

28 return String.format("(%.1f, %.1f)", real, imaginary);
29 }

30 }// endclass Complex

2 public class ComplexTest

3 {

4 public static void main(String[] args)

5 {

6 Complex x = new Complex(1, 1);

7 Complex y = new Complex(2, 2);

8

9 System.out.printf("x = %s%n", x.toString());
10 System.out.printf("y = %s%n", y);
11 }

12 } /I endclass ComplexTest



